Pon% "7 'own 2,7 oo .7"02

It was singled out in order to separate — NRX° PN

OVERVIEW
There is a 'npYomn why the 710 specified the 79x%n of 77van separately.” 101 "9
maintains that it comes to teach that you are 2»n a nXvri 1299 for each 7oX%n ax. If
one did many nAX 0%¥72 MOXOM 2X (he was not aware that all these MaR?» are
nawa mMMoK), he is required to bring a nXvn 1277 for each 79871, This is referred to
as NX¥> pon?. However °01° 271 maintains that nXY> 1RHY 7727, the 770 removed
7720 from all other M>OX5n and differentiated it from them, that there is no 21n
nnon for 77vaT; only an (MpYn) IR? MOK.
X2 states that we can derive from s'R2°py "1 statement that XX p5r% 77v27. Our
mooIn explains how we see this in the words of ¥".

L 4
mooin offers one explanation:

— NANYN AN 1Y P

Since ¥" refers to 77v27 as an 7aN9» 3R, this proves that ¥"7 maintains NXX> Pom>.
According to the nX¥> %% 7"n we do not consider 7127 an 7989 28.*

mooin offers an alternate explanation:
— 210 02 MON NN RY NNNRY INDD 9INT INNDT TUN 92 PHYY 13929 99N IV

And furthermore, states the X''2>3 that according to the one who maintains

that nx2" IR%» 77v27, then 7727 would not be ™R on ©''y -

$799Y NANYNI OV PNT O3
Since 77v27 is not designated as a 575892, Concerning nawa 7ox%» the 770 writes 22
nnY 7ORYM 12 Awwa, indicating that 7727, where there is no 701 217, is not considered a 7R,
It is a separate MO°X. We derive the 79821 70K on v"v from 272 AWy X7 7oK 92, However,
77V, which is not a 7987, is therefore excluded and 701 on ©"Y (even [Wd1 HR] TNXH ROW).

SUMMARY
¥'"1 maintains that nXX> P17 7727, either because he uses the phrase 77279 11730
7ORP7 AR X7W, or because he maintains that it is 112 770K,

U,y naw.

* The 770 writes (3,72 [27p1] Naw) that N2ws 212 0>*Mawm 2 WX 1van X9, This 105 seems to be superfluous for
the 77N states previously 72871 93 nwyn K>.

3 9" states TIRDM AR RAW 7WIATY MY

* There is a 1 211 for an 79X 28 and no 70 217 for 77v27; it cannot be considered an 73857 2.
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THINKING IT OVER
According to m»doIN first explanation, is 77Y27 permitted or forbidden on v"y (if we
maintain NRX> W57 77v27)?
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